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l'able 2 Distribution of uncorrected visual acuity for right, left and better eye by percentage and confidence interval

Best-corrected VA

% (g5% CI)

6/6 1044 86.7 (84.8-EE.6) 1034 B59(33.0-87.49) 1071 39.0(872-90.8) 1182 981 (g7.5-00.0)
/g 36 3.0(20-40) 38 32(22-4.2) 42 35(25-4.5) 13 Lo8 (0.5-17)
612 2 L7 (LO-2.4) 28 23(15-32%) 24 20(12-28) 3 025 (n.03-053)
6/18 32 27 (LE-3.6) 32 27 (1L8-36) 31 2.6 (1L7-35] 2 0.17 (o.0-0.4)
6/24 2q 24015-33 32 2 7{1L8-3.6%) 19 L6 (09-23) 2 0.17 (0.0-0.4)
636 23 Lgi113-267) 19 L6 {0g-23) g 0.7 (o2-12) 2 o17(0.0-0.4)
6/60 12 LO (0.4-16) 13 L1{0.5-17] 4 0.3 (o.01-0.61) - -
CF & 0.5 (0.1-0.1) 7 0.6 (0.16-1.04) 4 0.3 (o.01-0.61) - -
HM 1 o1ia.0-03) 1 a1io.0-03) -~ - - -
Total 1204 100.0% 1204 100% 1204 100.0% 1204 %100.0

VA = 6B/12 a1 7.6 {h.1-0.1) g 0.75(0.3-1.2)

CF = count fingers; O = confidence interval; HM = hard movertenr: UVA = uncorrected sl acuiry; VA = visuwal acity.




